Intro to College Math: Chapter 3.3
Intercepts of Lines

* x-intercept — the point where the graph crosses the x-axis. ( the y-coordinate is 0 at this point.)
0 =) (7,0

* y-intercept — the point where the graph crosses the y axis. ( the x-coordinate is 0 at this point.)

O = (0.5)

1. From the graph below, find the x and y-intercepts for the line.
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2. Find the x and y-intercepts of the line.
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4. Find the x and y-intercepts of the line.
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5. Graph the vertical line x= -3. Then name it’s intercept.
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6. Graph the horizontal line y = 5. Then name it’s intercept.
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